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  نقاط6:ولالتمرين الأ
14

6C
 

 
1.00728Pm u1.00866u14

6C14.0065u 
14

7 N14.0031u14
6C 114 .g mol 21 931.5 /u MeV c 

23 16.02 10AN mol  
14 

14
7 N14

6C12
6C 

1 
214

6C 
3 
14 

1414
7 N 

1 
2 
312

6C 
3 
414

6C14
7 N 

14 
14

0m  14 1/2 5730t ans 
114 
20N14t=0s 
314 
V 

14 
C 14C12C

N(14C)014N(C)012
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CN 

 
14 

1t m = 0,295g 
1,40 

14 
m = 0,295g  51,12% 

2C14 
3 
 

 
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40 K40
18 Ar  

1 

20t st( ) 1
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51/2t40 K  
610Ar
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  نقاط7 :ثا˻التمرين ال
  

ABAmBm



1A


5

 
23 

1 
2 
3 
AmBm 0.8f N210g ms  
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 
 
 
 
 
 
 
 
 
 
 
 
 

 
AAm 

 
N 

 

Am
2

2
d x
dt

x 

 
1A 
2 
maxx 

00T 
3k 
4( )x tA 

 
4x cm  

5A
 

6
 

 
t   

  نقاط7 :تجريبيالتمرين ال
(Cl2)


 

(D° Chl)
1L

Vm = 22,4 L.mol-1  
 

(D° Chl) 
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 
 

(D° Chl)  mVClOChlD .)( 0
 0ClO 

(ClO-) 
25°CKe = 10-14  

K(ClO-)K = 3,16.10-7  
(D° Chl) 

(S0)C0 (Cl2)(HO-)
2( ) ( ) ( ) ( ) 2 ( )2 (1)g aq aq aqCl HO ClO Cl H O       

(S0)(S)
10

0CC  

V = 10mL (S) )()( aqaq IK   
 

ClO-I-  

( ) ( ) ( ) 2( ) ( ) 2 ( )2 2 (2)aq aq aq aq aqClO I H I Cl H O         

1 )(
2

32)(2 aqaq OSNa   
C2 = 0,1mol.L-1 VE = 10,8mL  

32 2
2( ) 2 3 ( ) ( ) 4 6 ( )2 2aq aq aq aqI S O I S O     

1.1n(I2) 
2.1n(I2)2 n(ClO-)

V 
31CC0  
41(D° Chl)(S0) 
– 

ClO-HClO 
ClO- 

1.2 
2.2KAClO-)(HClO

ClO-K = 3,16.10-7  
 

 
 


 

13 
23 

3312 chl 
48 chl 

 
 



daoudi.phy@hotmail.fr 

 

3as.ency-education.com




